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QUESTION 1

Click the Exhibit button.

Network Interfaces

=y

3 Create || x & - B, 5 : K3 Refresh

T Interface Name T Storage Virtual Machine (SYM)r  IP Address/"WWPN v Cumrent Port T
@ svm_sjbtest_fc_data_fcp_if_54 svim_sjbtest_fc 20:06:d0:39:2a:05.03.a3 tme-a700-01:2a
@ ovm_sibtest _fc_data_fcp_lif 67  svm_sjbtest_fc 20:07:d0:39.ea:05:03.a3 tme-a700-01:2b
© svm_spbtest fc_data_fcp_Iif_701 svm_sibtest fc 20:09:d0:39ea:05:03:a3 tme-a700-02:2b
@ svm_sjbtest _fc_data_fcp_lif 993 svm_sjbtest fc 20:08:d0:39:ea 05:03:a3 tme-a700-02:2a

FC/FCoE and NVMe Adapters

[, L] t'_j Refrech

WWNN T Node Name T Slot v Data Protocols T WWPN T
50:0a:09:80:80:d2:c3:b8 tme-a700-01 2a fcp fc_nvme 50:0a:09:81:80:d2:c3b8
50:02:09:80:80:d2:c3:b8 tme-a700-01 2b fcp fc_mme 50:0a:09:82:80:d2:c3.b8
50:0a:09:80:80:42:c2b9  tme-a700-02 2a fep.fc_nvme 50:0a:09:81:80:42:c2:b9
50:0a:09:80:80.42.c2b8  tme-a700-02 2b fcp fc_nvme 50:0a:09:81:80:42:c2b9

A customer has zoned switches to a host, but the host cannot see the LUNSs.

Referring to the exhibit, what needs to be done to make the LUNs visible to the host? (Choose the best answer.)
A. Zoning should be changed to use the 20:06:d0:39:ea:05:03:a3 and 20:08:d0:39:ea:05:03:a3 WWPNSs.

B. Ports on time-a700 nodes 1 and 2 should have the fc_nvme protocol removed.

C. Zoning should be changed to use the 50:0a:09:81:80:d2:¢3:b8 and 50:0a:09:81:42:¢2:b9 WWPNSs.

D. The customer should remove the switches and directly connect the host to the controller ports.

Correct Answer: D

QUESTION 2

You must enable remote authentication and grant a remote administrator either cluster admin or vsadmin access.
In this scenario, which three authentication types are supported for ONTAP 9.7? (Choose three.)

A. CHAP

B. AD

C. SAML

D. RADIUS
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E. LDAP
Correct Answer: BCE
Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.pow-adm-auth-rbac/Administrator%

20authentication%20and%20RBAC.pdf (5)

QUESTION 3

You are asked to separate replication and data traffic into their own individual VLANSs. You created two new VLANs and
need to create logical interfaces (LIFs).

In this scenario, what must you do before creating the LIFs? (Choose the best answer.)
A. Create a firewall policy.

B. Create an interface group.

C. Create a network subnet.

D. Create a broadcast domain.

Correct Answer: B

QUESTION 4

Click the Exhibit button.
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FC Ports

Node 2a 2b
-~ tme-a700.01 oo ——
32 Gbls 32 Gbls
WWPN 50:0a:09:81:80:d2:c3:b8 50:0a:09:62:80:d2:c3:b8
Network Interface 1 1
Data Link Rate 32 Gb/s 16 Gb/s
Port Address b1200 a1200
Protocol FC,NVMe FC.NVMe
~ tme-al00.-02 _— —s
32 Gb's 32 Gbls
WWPN 50:02:09:81:80:42:c2:b9 50:03:09:82:80:42:c2:b9
Network Interface 1 1
Data Link Rate 32 Gb/s 16 Gb/s
Port Address b1100 a1100

Referring to the exhibit, a customer is experiencing performance problems on an SVM supporting NVMe/ FC. You
review the physical FC ports that are connected into the 32 Gbps switches for cluster tme-a700.

In this scenario, what is causing the performance problems? (Choose the best answer.)
A. Port 2a needs more network interfaces added to the physical port.

B. Port 2b has a 16 Gbps SFP+ installed.

C. Port 2a needs a 16 Gbps SFP+ installed.

D. Port 2b has two many LIFs running across the physical port.

Correct Answer: A

QUESTION 5

Your company is merging with another company. You are asked to set up your AFF A400 cluster to support two
networks that have the same overlapping 192.168.1.0/24 subnet.

In this scenario, what must you create, to enable the same subnet with overlapping IPs on the same cluster? (Choose
the best answer.)

A. broadcast domain
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B. IPspace
C. subnet
D. failover group

Correct Answer: B
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